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Part A
Answer any ten questions.

Each question carries 2 marks.

1. T

Find the derivative of lOg £

2. dy
Ifx+y=a find AT

3. Ify=€*® findy,

4. Discuss any method of solving assignment problems

5. How will you solve maximisation problems using assignment techniques?

6. Distinguish between basic feasible solution and optimal solution of a transportation problem
7. Write a short note on North west corner rule

8. What are unbalanced problems?

9.  Define singular and non singular matrix

10. Define inverse of a matrix

11. Define subset of a set
(AU B)*

12. Represent using venn diagram

(10x2=20)

e i Page 13 Turn over



IR

Part B
Answer any six questions.

Each question carries 5 marks.

13. Find the differential coefficient of (2)(-1)2
14. Differentiate (x-1)(3x-1)
15. Distinguish between assignment problems and transportation problems

16. Explain MODI method of testing optimality of a solution

17. 1 2 3
2 1 3
3 2 1

Reduce the matrix A=
of A

to row equivalent canonical form and also find the rank

18. Explain elementary transformations
19. Different types of sets

20. Define union and intersection of sets with example

21, TFA={123.5}, B={23.4},C={1234} find (ANB) x (ANC)
(6x5=30)
Part C
Answer any two questions.

Each question carries 15 marks.

2 2 2
22. Ify=% logz ,prove that & Y2 — TY1 = 2z

23. A company is faced with the problem of assigning six different jobs.The costs are estimated as

follows(hundreds of rupees)

1 2 3 4 5
A 2.5 5 1 6 1
B 2 5 1.5 7 3
C 3 6.5 2 8 3
D 3.5 7 2 9 4.5
E 4 7 3 9 6
F 6 9 5 10 6
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24. Find the initial feasible solution to the transportation problem using lowest cost entry method

A B C D Supply
I 6 4 1 5 14
I 8 9 2 7 16
1 4 3 6 2 5
Demand 6 10 15 4

25. Find the rank of the matrix A by reducing to its row equivalent Canonical form

s |

4 0 2
2 1 3
0 1 2

6
1
-2
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(2x15=30)
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